8T0Z-3p-04qwianou ap £0

=
/ ILJ
SIS

-
0

8T0Z/0T 5N |eouasald oedaid

00°005°0€ $¥

SIBAQIN 9P 0DI2WO0) THS

OLIeI|IqOIN Ul

012J9WO0) |9

eJ13eW.I04U| 23 Ul

[B12J2WO0) UOUO |

WO BJIRIA

X 00°06%°0€ SY wasdeuisn ajgnoq

*10d10) sajualquiy [|ep

LT 2dueq 9T ddue] ST doue] vT 2doue] €T due] 2T ueq TT 2dueq 0T ddueq 60 22ue] esaidwy
00°000°'T€ $Y | 00'000°ZE S¥ | 00°000'¥E $¥ [ 00°000°SE $¥ | 00°000°9€ $Y [ 00°000° € $4 [ 00°000°0% $¥ | 00°000°ZF $¥ | 00¥8E9¥ S SI9AQIAl 3P 01219W0) THS
X 0024899 $Y OMEIIqOIAl 1Huyu|

X 00°000°T9 $Y 012J9W0) |94

X 00°000°SS SY BJ11BW.I04U| 23 Ul

X 80°005°9S SY |eI2J3WO0) Uouo |

X 00°006'SE SH | 00°0¥6°9€ $¥ | 00°0S8°6€ $Y | 0000V’ TV SH | 00°09T €¥ Sy woselld\

00°0S6'0€ S | 00°0S6'TE ¥ | 00'0S6'EE $Y | 00°0S6'VE SY | 000S6'SE $¥ [ 00°056'9€ $Y | 00°006'6€ $¥ | 00°00S TV SH | 00°00V Sy Y wadeuisn a|qnoq
X 00°000°8% ¥ "10dJ10) SajudIquy |8

80 2sue L0 ddueq 90 ue] S0 ddue 0 @doueq €0 ddueq Z0 ddue T0 3due |ediu| Jojep esaidwy

ojuaweAinbiy 3 ojusaweuazew.y ap seininiis3 ap oedisinby - 10 LI

8T0Z/0T 5N |eloudsald oedald
OVYIviNdY 3a YdVIN




